@ FE iz otk

P-45

| AOEOTAEIKABCDE, 2AOTHTHAE
| EGFT3DOHHT, A, DICHFELI, THIC

| DOVT, ROBNCER L,
1) BE:EF:FC=2:2:10Q&%, 7
D OEREDLZROIEEI L,

|
|
|
@ 7. A OOEEDLLS 2

@

Q.8 ClBdL=E, BE EF - FCEROESL,

: 4,

A G D
B E F &

(1)
1% FAITWEL T 2§45 AG=EF-2

I AD=B¢ £Y Ta §31=739F7.
5
A%\&/xo

L4
7

ErG FeD g £I37c 4 £ 71T R
250 =¥ = FuxHTI.

A

~

Ly

\2 N 2 N1

FoA ToFs1TH Lo ¥ 5 @Faa
I& Doy Ey2rtaz eI 7.

(2)

(DA 43 £51= 7.4, Yalgan

iz AD v BC = By 3T

Ot+tg=2+5t%

O =(2+5+5)T2

Q= N V\AM‘EE;?&_.

oo Ex 13
D ARt 2
A 2+2=L
o 3tz
L T=AYS2 7.4, % o d@mfharc(t
21434 = |1 2112

ACr=EF = ¥ +5 EF 53 5
S
Fcof=wx
i 5 56— (2t2.%)
B\ 2 £= a5 /B a7 = Lb
4 ///
= &)
BEIEF:Fe 1T
2 {25\ = 4513
4:5:3




